

















9.

12.

In a compound contains 54.2% carbon, 9.2% of hydrogen and rest are oxygen. What 1s molecu-
lar formula of compound, 1f molecular mass s 132 g/mol?

I) CH,0;, 2) C,H,,0; 3) C,H,,0; 4) C¢H304

|
AgCN
\@\Cl _'E_, Product
Br

What will be fial product?
l
NC N
(1) \@/\ (2) \@\(
d Br
| l I N
3) 4)
CN Br
Number of stereoisomers for grven compound?

Match the following
List -|
(Name)
(A) Gettermann reaction (P) P-<..! -(Jj‘-'f-—i_:v

NSOl

(Q)© R

r-ﬂl,

(C) Rosenmund reaction  (R) K-C=N I

(B) Stephan's reaction

(D) Etard Reaction (S) @ G :’,‘CH

(1) A=Q, B=R, C—P, DS (2) A=R, B-+P, C—+Q, DS
(3) A=Q, B+P, C—R, DS (4) A—»Q, B4R, C—S, D»P



13.

14.

15.

16.

17.

0.25 gm of organic compound gives 0.15 gm of AgBr in Carius method. Percentage of bromine
In organic sampleis......... x 1071,

(Atomic mass : Ag= 108, Br = &80)

(G1ve your answer as neares integer)

A Awaregn g KNO,_yye]lgw ppt

CH,COOH
A1s

1) N1S 2) CoS 3) MnS 4) FeS
The correct order of melting point ot 14 th group elements 1s

1) C> 81> Ge>Pb>Sn

2)Sn>Pb>Ge>S1>C

3) C>8S1>Ge>Sn>Pb

4) C> Ge> S1>Pb>Sn

Match the following Nitrogenous bases with their respective structures

NH;
a) Adenine P) fﬁg
O
b) Guanine Q {1
NH

c) Cytosine r) | :/LO

d) Uracil s) | nI'D

Consider the following gaseous reaction

H,(g)+1,(g)——2HI

The above reaction 1s started with ‘a’ moles of H, and ‘b’ moles of I, ina closed container at a

certain temperature T(K) t1ll the equilibrium 1s established. Which one of the following plots
correctly describes the progress of reaction?
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